Plan Dependency Graph for Rainfall

1. What is the initial format/structure of the input data? o

|  input-data

(12-34-5-67&-9991011)

2. Is there a different version of this dala jconterils ar format)
that seems easier, or more useful, for this problem?

3. What tasks would you need fo do to convert the O—bp
ofiginal inpit o the more usafl format?

4. Do these fasks have o occur in a parficular order?

/

truncate-sentinel
(12-34-5-678)

remove-negatives

5. What oulput showld the overall funciion produce

(12478)

D imput
Wl outout
D task

an your example?

\

get-sum

get-count

B. Identify the tasks that you'd need fo do 1o conver! (e g
the wseful data into the overall oulput,

22

dverage

4.4

g



